Quick Assessment No. 2.1 - Addition

Name:
Roll No.: Std: 5 Division: Date:
Q.1. Find the sum.
a. i C.
2332214 21434620
3223453 244523467 2512345
+ 2114121 + 311527487 + 3411945
Q.2. Fill in the missing numbers to complete the addition.
a. b.
4 | 1] 3 7 6 3|14 1|0
+ 8 8 2 + 0 1 2
6 8 | 8 519 719196 |8)|8]|7

Q.3. Find the sum.

a. two times 2,02,050
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b. hundred thousand and
one lakh

c. 3 million six and 4 lakh
sixty



Q.4. Solve these story problems.

a. A large poultry farm produced 45,25,250 eggs in first year, 49,72,740 eggs in the
second year, and 52,67,260 eggs in the third year. Find the total number of eggs
produced in three years.

Solution:

b. 2,12,57,088 kg of rice, 4,23,672 kg of wheat, and 18,96,750 kg of millets was
collected for a Fair Price Shop for public distribution. Find the total quantity of grains
collected.

Solution:

Q.5. Frame a simple word problem for 2,50,500 + 4,11,690 and then solve.

2.1 - Addition
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Q.6. Solve.

a. Round the numbers to the nearest thousand and ten thousand and add. Then find the

actual sum. Which is a better estimate?

7,42,706 + 2,48,614

Estimated sum to the
nearest ten thousand

Actual sum

Estimated sum to the
nearest thousand

Ans.

b. Mr Ramesh sold 2,12,700 litres of groundnut oil and 1,13,900 litres of sesame oil.

About how many litres of total oil did he sell? (Estimate the sum to the nearest

thousand.)

Q.7. Tick the correct option.

a. 10,00,000 more than the greatest 6-digit number is

i. 11,99,999 | |

iii. 91,99,999 | |

b. The sum of the place value of digit 1 in 21,70,810 is

[]

iv. 1,00,010 | |

i. 1,00,001 | |

iii. 1,10,000 | |

LE Mathematics Grade 5 - Assessment Sheets

ii. 1,00,100

i. 19,99,999 | |

iv. 99,99,999 | |




c. The sum of one lakh and two hundred thousand is

i. 30,00,000 [ | ii. 2,00,000 | |

iii. 21,00,000 [ | iv. 3,00,000 [ |

d. 888,888 + 12 =

i. 888,900 [ | ii. 888,890 | |

iii. 888,980 [ | iv. 888,009 [ |

e. The estimated sum of 2,02,700 + 5,98,456 to the nearest ten thousand

is

i. 7,00,000 | | i. 7,99,000 | |

iii. 8,00,000 | | iv. 7,90,000 | |

Teacher’s remark:

2.1 - Addition
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